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QUESTION 1

Which port is used for communication between ESXi and vSphere Data protection? 

A. 80 

B. 22 

C. 443 D. 902 

Correct Answer: D 

 

QUESTION 2

Which two clients could an Administrator use to add a new identity source to the vCenter Single Sign-On domain?
(Choose two.) 

A. vSphere Client 

B. Platform Services Controller Web Interface 

C. vSphere Appliance Management Interface 

D. vSphere Web Client 

E. VMware Host Client 

Correct Answer: BC 

 

QUESTION 3

ESXi 6.5 introduces VMFS6, which supports both 512e and 512n devices. What three configurations are supported
when using these devices? (Choose three.) 

A. Hosts with both 512e and 512n devices. 

B. Storage vMotion between both 512e and 512n devices. 

C. Datastore Extents spanned between both 512e and 512n devices. 

D. Storage DRS clusters containing only both 512e and 512n devices. 

Correct Answer: ABD 

VMFS can host both 512e and 512n devices. It also supports storage vMotion between 512e and 512n devices. In
addition to that DRS clusters can contain both 512e and 512n devices at the same time. 

 

QUESTION 4
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How can a Vsphere administrator ensure that two virtual machines never run on the same database in a datastore
cluster, while permitting the VMs to be load balanced? 

A. Disable storage DRS for the VMs. 

B. Use an Inter VM Anti-Affinity Rule. 

C. Use an Intra-VM Anti-Affinity Rule. 

D. Configure a storage DRS VM override. 

Correct Answer: D 

 

QUESTION 5

It is determined that the Migration Assistant will be used to migrate from vCenter Server 5.5 on Windows with an
external instance of Update Manager to a vCenter Server Appliance 6.5. Which option is correct in regard to migrating
Update Manager? 

A. The Migration Assistant must be run on vCenter Server first and then on the Update Manager server. 

B. The Migration Assistant must be run on the Update Manager server first and then on vCenter Server. 

C. Migrating Update Manager from legacy versions of vCenter Server to a vCenter Server Appliance 6.5 is not
supported. 

D. The Migration Assistant can only migrate local instances of Update Manager to the vCenter Server Appliance 6.5. 

Correct Answer: B 
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